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(2% Hours) . [Total Marks: 75]
Note: 1) All questions carry equal marks and are compulsory,
- 2) Figures to the right indicate maximum marks for a question,

Q1. (A Attempt any two sub-questions from (a), (b).(c) in MS-EXCEL (2)
. -(True/False)

(@) Aworksheetisa collection of workbooks,

b)) " A ROUNDQ function is the same as INT() function.

(© Beforé({nserting subtotals, the data in the worksheet must be sorted. ;

(B) - Attempt any two sub-questions from (d), (e).(f) in MySQL (2)
. (Multiple Choice)
(d)  The key which helps to uniquely Identify each row of the table/is
called key.

1) Primary 2) Foreign 3) Main 4) None of these
' > %
(e) Tosavethe transaction we use
1) Commit 2) Concat 3) Rollback 4) Return
~_. (0 Toindichte atBne values in the column are positive we use e
1) Not Nul 2) Unsigned 3) Mo Signed 4) Not Signed
© . Attemptany six sidb- estlons from _(g)j(h),(I),_(j),(k),(l),(m),(n),(o) (6)
: in Data Commum‘cat@ rking and Internet, (True/False).
(8 ABlogisa digital diary.
(h)  Atoken passing system is eddy Ring Topology.
()" InLAN atleast one computerhzg file server,
() A computer that acts as server a is peer.
() There are seven layers in 0S| mod
(M  Dial-up connection provides faster internet a cess,
(m) Yahoo.com is a search engine. *
(n)  The Boolean search =an simultaneously seargh ¢ h many search
engines, )
(0) Internet Exploreris a web browser.,
o Attempt any five sub-questions from (p),(q).(r),(s),(t),(u),(v),(w) (5) =

. in Data Communications, Networking and Internet. (Multip]e Choice)

(4] —is nota component of data communication. ’
1} Sender I 2) Receiver 3) Protocol 4) Accuracy
(@)  The rules for exchanging data between the computers are called .
1) Server 2) Protocol 3) Dornains  4) None of these
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(r) Terminators are used in - topology.

1) Star 2) Ring 3) Bus 4) All of these

(s) Theacronym UTP stands for

- 1) Uniformly Teqminatirig Port 2) Unshielded T-Connector
3) Unshielded Twisted Pair 4) Unshielded Teflon-coated Fair
® The layer of 0S1 model provides the services like FTP, E-inail,
Remote Login etc. S
1) Applicatic;n ' 2) Network 3) Session __ 4) Physical
(uv) A hypeﬂink can appear as i
1) Text only 2) Image oniy
S, : 3) Both Text and Image 4) Nonab’f‘these
.in and .org are examples of . )
1) Domain names 2) URL addresses
ebsites 4) [P addresses
©(w) ocol to fetch e-mail from 2 _:“Ernc‘_te mail-box into your computer is

2)NNTP .3 3) FTP 4) HTTP

Q2. (A) Answer a% *C[l'l.i‘S'tiOl’l from (a) ,(b) in Data Communications, €
d ' :
in

Networking a et
(a) ExplainBusan g Topelogy.
(b) Whatis Internet? xp he uses of Internet.
(B) Answer any one sub-guestion from (c) .(d) in Data Communications, (

Networking aud Interne
(c) Whatis Electronic mail? State the advantages and importance of Electronic
mail.
_(d) Writeanoteon Twisted-Pair and Co-axial cable in data communication.

Q3. ' (&) Answer any one sub-question from (@), (b) in MySQL {
(a) Write MySQL statement to create a table called LIBRARY having the
following columns Serial Number(SR_NO;, integer, distinct, should
increase by 1 automatically), Book Name( BNAME, character with variable
width 25 columns), Author Name( AUTHOR, character with variable width
15 columns) and Book Price( PRICE, 5 integers and 2 decimals, positive).
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(b)  Write MySQL statement to create a table called CONSUMER
having the columns Consumer Number( CNO, distinct integer), Consumer
Name(CNAME, character with variable width 15 columns, should not be
empty), Type of Connection( TYPE, character with variable width 10
columns, with default entry ‘Industrial) and Units Consumed( UNITS,
integer).

(B) - Ansvyear any one sub-question from (c), (d) in MySQL (7
. (&) Explain the following built-in functions in MySQL.
1) UPPERQ 2) NOWQ 3) LTRIM( 4) RIGHT(
5).POW(Q , 6) MODO 7) MONTHNAME(Q) )

(d) There exists a table called ESAL having the following
" columns Employee Number( ENO, integer, primary key), Eniployee Name

(ENAME, character variable width 25 columns), Date of Birth( DOB, date) N

and Salary( SAL, 5 integer and 2 decimals),

Write MySQL statements for the following.

i) Display the structure of the table ESAL.

ii) Incre he salary of all employees by 2000. -, .
size of the column SAL to 6 integers and 2 decimals,
thg/column DOB to DBT.

naMme of the employee numbsr 175 to ‘VIVEK JAIN',
w where employee numberis111. -
E ;

vi) Delete the
vii) Delete the

(@) There exists a table EMP cont lumns Employee number
(ENO, integer), Employee nam E, character), Department (DEPT,
~ character) and Basic Salary (BS ic). There exists another table
INCENT containing célumns Employe er (ENO, integer),
Contributiun (CONTRI, Numeric) and s (BONUS, numeric).
Write MySQL querics for the following Ql/

i) Display the Employee number, Employee nim tribution and
Bonus for exiployees having Bonus more tha 5000 using both the

Q4. A Answer any one sub-que% (@), (b) in MySQL (8)
in

tables.

i) Display the Employee name, Department, and Contribution for all the
Employees having Contribution below 500 using both the tables.

ii) Display Employee name, Department and Basic Salary from the table
EWMP for those employees having Basic Salary below the average
Basic Salary,

iv) Display Employee number and Bonus in the ascending order of
Employee number from the table INCENT,

v) Display Employee name, Department and Basic Salary for Employee
whose name begins with ‘M’ from the table EMP,
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(b) Thereexistsa table TAX containing columns Permanent Account Number
(PAN, integer), name (NAME/ Character), city (CITY, Character), Taxable
income (INC, numeric) and income tax (ITAX, numeric).
Write MySQL queries for the following
i) Display the city, maximum and minimum Taxable income, grouped
by city. i
i) Display the city, total of the income tax and total number of
income tax payers, grouped by city.
iii) Display all the rows where the income tax is below the
average income tax. : __
iv) Display the Permanent Account Number, Income Tax and 10% of
the income tax as ‘Surcharge’. \
v) Display the rows from this table where the name does not contain
i\ Q

" (B) Answer any one sub-question from (©), (d) in MySOL (7
() Thereexistsa table EXAM containing columns seat number (SEAT_NO,
. character), Name (SNAME, character), Gender (GEN DER, character) and
- marks (MARK, numeric). Write MySQL queries for the following
i)Display the seat number, name and marks © fstudents whose marks
are equal to the highest marks. B )

O i) Display the seat number, gender and marks of students whose marks
re above the average marks. o>

i) Display the gender, minimum marks and maximum marks of the

mdents grouped by gender.
i @ 1l the rows where the gender is ‘M.

(@) There DEPOSIT congé\{ning the columns account number

1]

% ), customer name (CNAME, character), Amount Deposited
(D_AMT, date ¢f deposit (DDATE, date)
and period 0 it (P_DEP, numeric).
Write MySQL gueries forghe following:
i) Display the accg’xylmber and amount deposited.
i) Display the total of deposits and maximum amount
deposited. a
| iif) Display customer’s ngfme in capital letters, year of deposit and the
amount deposited. )
{v) Display all the rows in the ascending order of amount deposited.
v) Dispiay all the rows where the customer name begins with ‘B,
vi) Dicplay all the rows where the date of depositis before March 15,
2015. )

vif) Display the customer name and amount erosited where the
amount deposited is either 1,00,000 or 3,00,000.
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Qs. (A) Answer any one sub-question from (a), (b) in MS-EXCEL ) (8)
(@) Consider the following worksheet showing the cost of machinery, rate of
depreciation and its life in years. Using reducing balance method, explain
the procedure to display Year Wise depreciation and W.D.V, till the life of
the machinery.

.-: A B £ D E £}
: § Cost Rate |LifeinYears| Year |Depreciation| W.D.V.
2 | 900000 | 9.50% 5 1

3 (& 2

4 3

3 4

6 5

(b) Consider the following worksheet showing the Sales of 4 qer’sons.

[2] aA. B .~} p g B F G
4 1| Name Sales Tax | Discount |Net Amount| Profit :
© 2 |Anita 650000 ' ]
3 |Sac| 40000
- 4 s 35000
5 |Ni 70000
Write step§to, r all the salesmen

e Sales in column C
e Sales in colemn D
+Tax-Discount in column E

(ii) Discount as €.
(iif) Net Amount
(iv)-Profitas 8.5%

mou-nt' in column F i
(B) ‘Answer any cne sub-que cﬁm (c), (d) in MS-EXCEL (7N

(c) For the following worksheet@n ays Present and the propertionate
Salary in columns D and E, ass t thare are 25 working days in the

month,
E | & A [ A'B D E

1 Narne Manthly Salary | Days ABsent| Days Present| Proportionate Salary
2 | SubashShah 30000 a ®
3 Lila Mehta | 45000 2

4 »
S5 h |
6 ; , . .
7 | Framruse Dalal 50000 3
8 |Shefique Ahmed 60000 1

- (d) Exglain the following built-in functions in MS-EXCEL.
(1) NPERQ  (2) SQRTQ (3)RATEQ (4)IPMT(Q (5) ABSQ
(6) MOD(Q) (7)JROUNDQ)
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